Natural selection,

'Natural selection is one of the basic mechanisms of evolutron along with mutat1on '
mlgra’uon and genetlc drift.

Darwin's grand 1dea of evolution by natural selection is relatlvely srmple but often .
i - ‘m1sunderstood To ﬁnd out how it works, imagine a populat1on of beetles :

1. There is varlatlon in tralts.
‘For example, some beetles are green and some are brown.

2. There is dlfferentlal reproductlon.
- Since the environment can't support unhrmted
population growth, not all individuals get to reproduce
- to their full potential. In this example, green beetles tend
" to get eaten by birds and survrve to reproduce less often
than brown beetles do :

3. There is heredlty
' The surviving brown beetles have brown baby beetles because

_ tlps trait has a genetrc bas1s : | - l

4. End result
" The more advantageous trait, brown colorat1on whlch allows the
‘beetle to have more offspring, becomes more common in the - ,
*populatlon If this process contlnues, eventually, all md1v1dua1s in
' the populatlon will be brown. : :

If you have variation, differential reproductlon and heredity, you will have evolut1on by
natural selectlon as an outcome. It is as simple as that. -



